33RESULTS OF INTERNATIONAL NAVAL CONTEST 2008.

"A" MIXED MODE.

PSN	CALL	No	QSO'	S POINTS	MULTS	POINTS
1.	G3LIK	RN0004	170	1135	95	107,635
2.	IK3TZB	IN572	74	790	50	39,500
3.	MM0WPM	RN2941	46	393	40	15,720
4.	CT1B WW	NM	65	317	28	8,876
5.	SV1HEM	NM	80	341	17	5,797
6.	DK4WV	NM	95	284	21	5,964

"B" CW

PSN	CALL	No	oso,	S POINTS	MULTS	POINTS
1.	OH3VX	FN16	319	1401	150	210.150
2.	DF4BV	MF742	249	1599	110	175,890
3.	OE4PWW	CA135	288	1548	102	157,896
4.	DJ6TK	MF328	178	1250	85	107,100
5.	DH2MS	MF954	178	1141	87	99,267
6.	LY2MM	MI426	176	1160	76	88,996
7.	I1XSG	IN557	131	1004	74	74,296
8.	OZ0MF	MF960	177	924	70	64,680
9.	DL2HUM	CA31	131	936	66	61,776
10.	ON4CBM	CA82	119	866	71	61,468
11.	DF5LW	MF173	126	855	69	58,995
12.	I6FDJ	RN4263	125	891	63	56,133
13.	DL4JYT	MF956	107	796	66	52,650
14.	G3RFH	RN175	99	792	64	50,688
15.	G0IBN	RN3314	222	816	60	48,960
16.	YO9OC	YO90	136	937	61	47,757
17.	I2AZ	IN481	109	703	64	44,992
18.	HA2RQ	MF482	106	817	52	42,484
19.	I3TXQ	IN336	100	721	53	38,213
20.	DL9CM	IN575	77	653	61	37,833
21.	YO4ASG	YO124	72	621	58	36,018
22.	DJ9WB	MF25	77	644	50	32,200
23.	DL2NFC	MF923	80	611	50	30,550
24.	PA3CWG	MA10	68	536	43	23,046
25.	RN1NW	RN4263	68	527	42	22,992
26	IK3TZB	IN572	74	497	40	19,880
27.	DL2AMF	MF508	59	482	40	19,280
28.	I6MAT	IN568	61	511	36	18,396
29.	IK2CZQ	IN534	60	411	37	15,207
30.	G3ZNR	RN4496	42	348	42	14,616
31.	DL2NY	MF462	52	421	34	14,314
32.	I1MQ	IN419	55	352	39	13,728
33.	CT1CZT	PN1	71	395	34	13,430
34.	PA0JED	MA10	58	388	33	12,809

35.	OE6NFK	CA58	47	353	34	12,002
36.	PA0VLA	MA55	43	349	33	11,517
37.	PA3EVY	MA164	68	329	29	9,541
38.	G3ZGC	RN508	40	319	29	9,251
39.	OE6ESG	RN4580	53	303	28	8,484
40.	ON7CK	BM124	64	298	26	7,748
41.	DL3DBN	MF933	66	151	51	7,727
42.	DL9LBQ	CA29	38	281	27	7,587
43.	IK7TVE	IN348	33	276	27	7,452
4 3.	HZ1PS	RN1440	47	281	26	7,306
45.	OE1TKW	CA109	30	273	24	6,552
45. 46.	PA5P	MA451	28	262	23	6,026
				202		
47.	DL1EV	MA118	34		26	5,902
48.	DJ1IZ	MF332	32	266	21	5,586
49.	OH1LD	FN1	31	258	21	5,418
50.	I1BAY	IN285	41	256	20	5,120
51.	DJ7QV	MF351	42	145	35	5,075
52.	IT9DTU	MI4	21	226	22	4,972
53.	PA3HRM	RN2885	31	228	20	4,560
54.	G3KKJ	RN3601	65	497	9	4,473
55.	PA3CNK	MA70	31	220	19	4,180
56.	ZS6C	MA40	50	437	7	3,059
57.	DJ6OE	MF176	20	172	16	2,752
58.	HB9ANE	RN3493	20	164	16	2,624
59.	GW0VSW	RN4238	22	157	15	2,355
60.	OK1FCA	RN4639	22	166	13	2,158
61.	OE1WED	CA79	11	110	11	1,210
62.	ON4JD	BM117	15	96	9	864
63.	YO4AAC	YO25	14	95	9	855
64.	DL8NBM	MF231	12	93	9	837
65.	DL1HBL	MF876	13	112	6	672
66.	DF4QP	MF493	10	81	8	648
67.	SM6DER	RN507	5	41	4	164 CK
68.	OH1PP	FN7	4	40	4	160
69.	OE1CWG	CA92	3	30	3	90
70.	IZ1CLA	IN477	76	20	S	CK
70.	ILT CLIT	111177	70			CIX
	"C" SSB.					
PSN	CALL	No	OSO'S	S POINTS	MULTS	TOTAL
1.	DF7QN	MF778	54	171	13	2,223
2.	IZ5MOQ	MI581	29	29	1	29
3.	N8AV	RN3913	5	14	1	14
3.	NOAV	KN3713	3	14	1	17
	"D" SWL.					
PSN	CALL	No	080'8	S POINTS	MULTS	TOTAL
1.	OE1-100	CA65	155	903	83	74,949
2.	R1A-12	N/N	66	615	61	37,515
3.	LZ1G42	N/N	77	015	01	31,611
3. 4.	R3A-847	N/N	41	194	16	3,104
→.	NJA-04/	1 N/ 1 N	41	174	10	3,104

	"E" NAVAL	CI UR STA	TIONS			
PSN	CALL	No		S POINTS	MULTS	TOTAL
1.	OH1NAVY	FN150	533	2297	130	298,610
2.	DL0MFH	MF900	164	1028	82	84,296
3.	DL0MFK	MF885	196	934	75	70,050
4.	DL0MFX	MF1060	178	808	55	44,440
5.	PI4MRC	MA100	107	584	49	28,616
<i>5</i> .	OE6XMF	CA110	54	423	41	17,343
7.	II2IGTO	MI850	13	103	10	1,030
8.	DL0MFL	MF850	6	33	3	99
9.	CU3HQ	PN44	7	25	1	25
,	CCCIIQ	11111	,	23	•	23
2011	"F" NON NA	AVAL.		a - a		
PSN	CALL		-	S POINTS	MULTS	TOTAL
1.	ON4CDZ		340	1906	129	245,874
2.	OM7DX		318	1749	114	200.688
3.	DK8NT		130	921	67	61,707
4.	SV1MF		272	821	61	50,081
5.	LZ4GL		103	769	63	48,447
6.	YL2TD		108	783	59	46,197
7.	PA3EVV		117	774	59	45,666
8.	UA4LS		100	658	49	32,242
9.	UT4FJ		72	540	41	22,140
10.	DL3BRA		50	410	41	16,810
11.	OK1ARD		61	475	35	16,625
12.	ES8DH		49	490	25	12,250
13.	LY3DX		44	332	28	9,296
14.	YU1AAV		45	306	29	8,874
15.	HA8WP		57	414	20	8,280
16.	DL4VQ		32	293	27	7,911
17.	DF7GG		40	301	25	7,525
18.	OK1KL		44	241	29	6,989
19.	OZ7EA		35	175	30	5,250
20.	DK1NB		23	194	18	3,492
21.	OK1BLU		22	175	17	2,975
22.	UA1CEC		20	173	17	2,941
23.	IZ3KMY		15	141	14	1,974
24.	PA0HGL		18	135	13	1,755
25.	UA1CE		16	133	13	1,727
26.	PA3FNB		17	133	13	1,727
27.	LZ2PS		20	164	16	1,624
28.	RW3AI		16	115	11	1,265
29.	DL2LFH		12	111	10	1,110
30.	SM7GUY		15	95	9	855
31.	PA1BBO		9	90	9	810
32.	HB9DAR		8	72	7	504
33.	OM740SNV		8	71	7	497
34.	PA3HFG		4	40	4	160
35.	YO9TOH		4	31	3	93

36.	VK8AV	3	30	3	90
37.	RU3SE	3	30	3	90 CK
38.	UN5C	3	21	2	42
39.	US5ISV	2	20	2	40
40.	F6DRP	2	20	2	40
41.	IK2EBP	8	17	1	17
42.	DL1STV	1	10	1	10
43.	SP9EWM	1	10	1	10
44.	SN9K	1	10	1	10 CK

A Plaque will be sent to the leading people in each class and a Certificate to the first placed member of each Society that participated and are highlighted.

COMMENTS.

HB9ANE I have a dream, only once would I like to experience an International Naval Contest which is the only one event at the fixed weekend! However this year the radio traffic on Saturday on 7mhz confirmed to me that a dream is really a dream only!! and far away from the reality.

I1MQ I enjoyed the contest very much contacting new and above all old friends. Conditions were not good, besides we had very strong QRM from the 9A contest. My vertical antenna helped me on 7mhz and a few on 14mhz but cannot use other bands.

N8NAV Pretty dismal conditions as you can see, have decided to submit a log for the first time ever for a contest.

UA4LS Very difficult to QSO due to the Croatian contest interference.

DL1HBL Sorry no more time for more QSO's we hope more next year.

OH1NAVY The team consisted of OH1WR Rauno Kekäläinen CW, OH1JM Jaakko Männikkö CW, OH1SIC Göran Ingemar Backman SSB CW contest log. We operated from the club station OH1AJ, aka OH1NAVY, with two rigs with linear amplifiers connected to our regular antennas.

II2IGTO It was my duty as IK2SOE to operate on 40m during the Naval contest, but due to illness I2GTO was not able to help out, so limited amount of time on the bands.

CU3HQ The contest was very bad to me but I submit a small log.

DL0MFH There were three operators aboard the MV Cap San Diego, DL5HI, DL8HCI and DK3UZ.

HZ1PS Did not go as well as planned this year, much QRM on 20m and the band closed just after I got started. Unfortunately was unable to work on 40m due to the compound TV, hope to rectify this situation next time.

ON4CDZ It was a great opportunity to exchange with you a serial number and many thanks for the points and multiplier. Sorry to say, I has been negatively surprised by the extremely low number of competitors – especially all those famous RNARS operators, as well as the lack of well known Club stations like GB2RN, OR0BRN and all those German MF Clubs! For the next coming year I think that the future organizers must make much more publicity concerning this special yearly event amongst the members of their Associations (I mean: INORC, ARMI, RNARS etc etc) if we want to keep alive the spirit of this big special family of ex-Naval operators! It is only a personal point of view but I hope you will agree with! G0IBN Where were all the G stations?? 15 minutes before the end 3 G stations came up??!!

MOCEF A hand written log, a few QSO's for fun.

CT1BWW Poor propagation conditions. Lot of fun working Naval Club members I will be back next year. Congrats to everybody and greetings from Portugal.

DF4BV Due to less activity and medium conditions the result is not satisfactory. Lowest since years. Hope others got same problems (hi).

DK8NT It was my 4th contest, and my 1st "small one". Still, I enjoyed it very much! I was motivated by my brother, DL8NBM, who is a MF member and former navy operator. Things were a bit complicated by the Croatian contest in parallel. Good: INC People were calling correctly "CQ Navy...." or "CQ Naval..." or "CQ INC", so all was clear here. However, I got several answers to my own (correct) CQ calls that were clearly Croatian contest participants. I scared some away by asking "Naval?", but still got some in my log. How are other stations handling these? I did not find a single SSB station, and gave up after two or three tries. Where were they ??? Last but not least: My last QSO was a sked with my brother DL8NBM.

I2AZ Poor conditions on upper bands, a good job on 40 mt, unfortunately few naval stations, not a good contest.

G3RFH Conditions seemed poor. Very noisy on 40m. Very slow going but enjoyed it all the same.

 ${
m SV1HEM}$ It was a nice contest but very QRM from another cw contest. I hope to cu next year.

DJ6TK I am glad to work so many Navy friends again

DL1STV The conditions in this competition were not the best ones for me. I will try next year again.

16MAT Just my very first enjoyed participation, I did my best.

PA3EVY Due to poor conditions and other contest, low activity from Naval Members.

PI4MRC Jan PA3EBA said conditions were not too good but it was a nice contest as always.

PA3HFG In spite of the limited number of QSO's I enjoyed it very much.

OM7DX Nice contest, problem is (Croatian - 9A) contest.

DL9CM I missed a lot of ships and other stations.
G3ZGC Only a brief appearance as I had flu.

GW0VSW Here is a small entry for this years INC, had not intended to enter.

PA0VLA Conditions were terrible here, hope it goes better next time.

G3LIK Conditions were not the greatest, but great to hear a lot of familiar calls on the bands. The 9A contest caused a lot of QRM and we should try to avoid this at all costs next year. A lot of stations did not make comments in their summary.

73 Mick G3LIK RNARS 4. (Chairman RNARS).